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403 XSRS K20 H 200,000 0 200,000
01 XFXIBHRIXHE 2 X 200,000 0 200,000
(OIS X SFHUE 2422 200,000
ZoHeFNM 240,000 0 240,000
403 XSRS KH=0| & 240,000 0 240,000
01 XHXIBHHIXHE 2 X 240,000 0 240,000
CELIEE S 240,000
BHSS AL (S AWED)(IIEHIIE) 30,250 44,210 13,960
ol 2| 30,250 28,250 2,000
PR 30,250 28,250 2,000
201 LEr2 | 17,000 17,000 0
01 AFR 22! H| 10,000 10,000 0
EEEIEE=1] 10,000
ORNERULAPEEIYS 10,000
02 2B 7,000 7,000 0
OB2RSLAA 2,000
OBBRES 2,000
CAIE ZHIS X 5,000
SNNEE=PIFIE] 5,000
202 01t 13,250 11,250 2,000
01 2LHO! B 13,250 11,250 2,000
EERNFSEEESSVT 13,250
WRES (TS (SHHL A/ AL - O E) 1,190,000 490,000 700,000
2HNE 1,190,000 490,000 700,000
06/07E =X OB Al & (KIS HL DI 2) 1,190,000 490,000 700,000
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